EELEE (B CBEARREOHER) (2024453 A #) BTSN H OHRE

[ZHERI AR F—NF 47 R]
Gtk - FEIRS A — 25 7E)

(B EHM, %)
KM1: E 7 45ER (RpRRIEE )
) s = N = R
%ﬁ%@ 20244F 20234 20234 20234 20234F
3HAK 12H XK 9H R 6H K 3HAK
PEA
1 AR Tier 1 G ARDKE 2,694,374 2,656,597 2,609,926 2,599,990 2,509,770
2 Tier 1 EADEE 2,978,873  2,940,905| 2,894,472|  2,884,662| 2,793,511
3 W E D AROHE 3,238,920  3,209,539| 3,166,851|  3,122,867| 3,081,287
YR Ttk
4 YR Ty hOKE 23,731,010 24,089,963| 24,308,911| 23,761,343| 23,256,895
4a VA2 Ty hOFE (7 a7 FHEERT) 23,731,010
YR Ty hOKE (70T FHEE e FE s < — R) 23,872,313
HOBEARLE
5 G E R U Tier L 11.35% 11.02% 10.73% 10.94% 10.79%
5a T L R A Tier 1 2R (7 1 7 F 34 A1) 11.35%
JHLAE ER U Tier 1L (7 0 7 Fi 3 i 44 2 iis = — %) 11.28%
6 s Tier1 Hoag 12.55% 12.20% 11.90% 12.14% 12.01%
6a JHLfE Tier 1 FL = (7 7 A& HIT) 12.55%
G Tier 1 b3 (707 i3 i i~ — R) 12.47%
7 HAERE AR 13.64% 13.32% 13.02% 13.14% 13.24%
Ta SEFER H CEAR LR (a7 D) 13.64%
GRS H AR (T a7 R R E N —R) 13.56%
ANy 77—
8 BARRAE N7 7— 2.50% 2.50% 2.50% 2.50% 2.50%
9 AT B = TY TRy T bR 0.05% 0.06% 0.06% 0.05% 0.03%
10 G-SIB/D-SIB/ Ay 77—t 0.50% 0.50% 0.50% 0.50% 0.50%
11 FARHEAEE A 77— 3.05% 3.06% 3.06% 3.05% 3.03%
12 HAEE ARy 77— 5.64% 5.32% 5.02% 5.14% 5.24%
FRRL LoDk
13 BTy AR—T v — D% 56,653,167| 56,019,5616| 55,466,415| 54,396,509 52,117,307
14 FRRL ALy Uk 5.25% 5.24% 5.21% 5.30% 5.36%




